L. Mental Maths
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writing numbers Patterns Addition
Words Number ||| 1468 110+12= 7.30+26+
Thirty-Two 2.9.12.15, 5 33+22= 8. 44+11=
Fifty-Seven 3.50,60,70, 324+17= 9.42+14:=
Sixty-F
Ty 4.11,22,33,__ || 4.45+11= 10.25+51=
Eighty-One
: 5.60, 65,70, 5 33+27= 11.40+56 =
Twenty-Six 12 14+
= 2 3 =
Thirty-Three 0. 41,44, 47, 6.19+ 11 '

Shade even humbers How many tens and ones? |3 o 7
34 | 67 | 10 | 42 | 23 | 64 | 12 1.42-Tens=__ Ones=___ ﬂ7
55 15 50 39 21 21 73 2.27-Tens=___ Ones=____ A\

3. 61 - T = O =
16 | 44 | 65 | 76 | 22 | 54 | 55 ens=___ones=
4 98 -Tens=____ Ones =

89 86 51 43 37 | 42 23

5.42 - Tens=____ Ones =
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writing numbers Patterns Addition
Lt Number | | 1 4 ¢, 8,10 110+12=22 7.30+26 =56
Thirty-Two 32 2.9,12, 15, 18 2 33+22-55 8 44+11 =55
Fifty-Seven o’ 3.50,60,70,80 ||3.24+17=41 9.42+14=56
;::ch;:: : 4.11,22,33,44 | |4.45+11-56 10.25+51=76
Twenty-Six ” 5.60, 65,70,80 | |5.33+27 =60 11. 40 + 56 = 96
Thirty-Three 33 6.41, 44, 47,50 ||6.19+11=30 12.14+63=77
Shade even humbers How many tens and ones? |3 o 7
34 67 10 42 23 64 12 1.42 - Tens=40 Ones=2 éh
55 | 15 | 50 | 39 | 21 | 21 | 73 2.27 - Tens=20 Ones=7 .
3.61-Tens=60 Ones=1

16 | 44 | 65 | 76 22 54 | 55

4 98 -Tens=90 Ones=8
B.42 - Tens =40 Ones=2

89 86 51 43 37 | 42 23




